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re law’ used in
titution has been

1. The phrase ‘equality befo
Article 14 of the Indian COnS
borrowed from the Constitution of
(A) Britain

(B) USA

(C) France

(D) More than one of the above
(E) None of the above

. What was the duration in the making of

the Indian Constitution?
(A) 1 year 10 months and 12 days

(B) 2 years 10 months and 5 days
(C) 2 years 11 months and 18 days

(D) More than one of the above

(E) None of the above

. The Council of Ministers in a State is
collectively responsible to

(A) the Chief Minister

(B) the Governor

(C) the Legislative Assembly

(D) More than one of the above

(E) None of the above

. Consider the following statements

In the post-73rd Amendment era, there has
to.be decentralization of

1."_ decision-making powers

2. system as a whole

3. Jjudicial powers

4. administrative powers

Which of the above statemens 4y, correct?
(A) 1,2 and 3 only

(B) 1, 2 and 4 only

(C) 2, 3 and 4 only

(D) More than one of the ahqy,

(E) None of the above

02/FH/CC/PT-2023/144-A
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S. The representation in the Rajya Sabha

includes

(A) members directly elected by citizens

(B) members indirectly elected by citizens
through their representatives

(C) members nominated by the President
of India

(D) More than one of the above

(E) None of the above

» Which of the following is concerned with

the Supreme Court of India?

(A) Appellate jurisdiction

(B) Original jurisdiction

(C) Collegium system

(D) More than one of the above

(E) None of the above

The minimum age for contesting elections

to the Panchayati Raj Institutions should be

how many years according to the 73rd
Constitutional Amendment Act?

(A) 21 years
(B) 25 years

(C) 18 years

(D) More than one of the above

(E) None of the above
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\—Redressal Lat 1N district statements 18" |

10.

which one of the

not correct?

(A) The Sta
more than on¢ D
district if it deems fit.

members of the D

te Government can establish

it Forum in @
istrict
(B) One of the

Forum shall be a womar:

(C) The District Forum entertains ll:le
complaints where the value of goods

or services does not exceed rupees
fifty lakhs.
(D) More than one of the above

(E) None of the above %

. At what level does a Panchayat Samiti

operate a Panchayati Raj structure?
(A) District level
(B) Gram Panchayat level

(C) Block-level body

(D) More than one of the aboye 3{ :

(E) None of the above

Which one of the fuﬂowing Wwas established
as the first Programme  of

A .
development? omunlty
(A) National Extensjon Service
(B) Integrated Rura)

Development

Programme
(C) “Cooperation Movemeng
(D) More than one of the aboye
(E) None of the above

02!FH!CC!PT~2023!144—A

L

12.

13.

(1 1. Which of the following are the objectives of

A

the SEZ Act, 2005?

1. Generation of additional economic
activity

2. Promotion of exports of goods and
services

3. Creation of employment

(A) 1,2 and 3

(B) 2 and 3 only

(C) 1 and 3 only

(D) More than one of the above

(E) None of the above

What is the policy measure adopted by the

Government of India to improve the system
of agricultural marketing?

(A)«Minimum Support Price (MSP)
(B) Maintenance of Buffer Stock

(C) Public Distribution System (PDS)
(D) More than one of the above

(E) None of the above

Which committee suggested the enactment
of the Competition Act, 20027

(A) Rangarajan Committee

(B) S. V. S. Raghavan Committee ©€) ®
(C) Vijay Kelkar Committee (D) -
(D) More than one of the above
(E)
(E) None of the above
02/FH/CC
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13. frm wfifa 3 wfoegyl sifufram, 2002 #
stfufafia 0 % gz fa?

(A) TrsH gfifa

(B) wdo dlo uho Ugaq wifa

(C) fasrm ¥ wfnfy
(D) 394 ¥ & 0% A Afu (D) 394 4 § vk § Ifys
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o il 17. In whi .

14. Match List-] with 1 an ‘ch budget did (he Finance Mip;
List-1I nounce the [ iperal: i ste

M alized Exchange R

(A) Union Budget, 1991-199,
(B) Union Budget, 1992-1993
(C) Union Budget, 1993-1994
(D) More than one of the abovye

List-1 - uction
Grey Revolution 1+ O pec
. rey me
: s 2. Tome® and meat
» Plnk Revolu pmducnon
_ Production of eggs

o W

_ Silver Revolution

c ;
.  Fertilizers
d. Red Revolution (E) None of the above
d
(A)ya b 18. Wr:
41 2 : Whlfh of the following were goals of
Ba b ¢ 4 the Five-Year Plans?
3 1 4 2 . Growth
(C)a b ¢ d 2. Modernization
1 4 2 3 3. Self-reliance
(D) More than one of the above 4. Literaturé
(E) None of the above (ANJ.13 and 4 only
(B) 2,3 and 4 only
15. Which of the following Five-Year Plans was |~ (C) 1, 2 and 4 only

focussed on Human Resource Development? | . (D) More than one of the above
(E) None of the above

(A) First
(B) Third
) Fi 19. Which organization carries out the survey for
Y determining the poverty line?
(D) More than one of e above (A) NSSO
(E) None of the aoyg (B) NITI Aayog
: (C) RBI
16, ‘Which of\ the following § : he above
received the | & Sates of India (D) More than one of the abo
ighest Foreign Direct (E) None of the above

Investment (Fp) ) equ

i .
1o September 20779 N during April

730. IThe trade balance of India (merchandise and

/20. Yy
) S : /scrvices) for December 2022 (provisional) is
(B) Tripura (A) () 10:50 USD billion
©) Gujarar (B) (+) 11:98 USD billion

(C) (o) 11:98 USD billion

(D) More than one of the above

(E) None of the above

02FHICCPT-2003/14,
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(B) faga

(C) T

(D) 37 4 B & A sAfu
(E) 394w # A F1¢ 78
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1. At what percentage has Bihar registereq
" the lowest Female Workforce Participatioy

Rate for the year 2020-20227

(A) 4% in rural and 6:5% in urban areag

. B) 6% in rural and 8:1% in urban areas

~AC) 7% in rural and 9-1% in urban areas
"

Ol &

willll)

‘.J;r’*"!h

(D) More than one of the above

(E) None of the above

A

€ maximum number
which district?

of tax industries is

e ol
gu;j ;

(A) Darbhanga

(B) Purnia

LAY
Q) Kishanganj

Fd

- (D
_';;i ) More than One of the aboye

E) None of the aboye

02/ FH;’CC!PT—ZOB:‘ 1445

24,

25,

: n of He; .
. €alth apq
Nily elfare on Novem}, F24 2 th
: ‘ ; . : y e » (N€re

S beep 4 Significant 'Mprovement th
fatip of Bihar, | o

t has INCrease | r, om

(

D) More than ope of the above

(E) None of the above

According to the Bihar Economic Survey
(202 1-2022), what was the rate of

of Gross State Domestic Product (GS
Bihar in 2020-20219

(A) 3%

growth
DP) of

B) 2%

©) 2:5%

(D) More than one of the above

(E) None of the above

Which one of the following is correct for

Bihar economy?

(A) The growth rate is one of the lowest

in India at 2:5%.
(B)
(©)

Bihar produces mostly primary goods.

The structure of the

i 1 above.
economy is stagnant fron

occupational

(D)
(E)

More than one of the above

None of the above
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2. 7 2020-2022 ¥ fory WA F Wfeen FAAE | 23, Fegm wwes w@ AR FAN W Fw

wrfiert 2 faraa witer o fagm & <&t & w7 5y qEm, 2021 F W W dfEn
a5 ¥ sgen, e F fom s & Fvh
1w g gan 1 A8 2015- 20168 ®

(A) 4% T &5 A 3R 6:5% TEd &3 | q@ 202020227 1 T R
(A) 1062, 1090

(B) 6% T &t # iR 8:1% Wed &mi A (8)71040, 1070

(C) 1030, 1050
(D) IFF A A F A AUF
(E) 37 3 | 13 A

(C) 7% Treior &t F 3R 9-1% WG Al q - |

(D) IF A A T A e 34, fiEn onfE EIE (2021-2022) F SN,
2020-2021 & TR ¥ FFA T T IR
(Sfi6 Tga Do o) F FfE T FFaA &7

(E) e 4 4 7 7 A 3%
Y B) 2%

(C)_2:5%

(D) 3w & 4 0 A AfF
(B) 37 A A #1§ 7

92, Hiumaa @ 3o fwa e 8 27

(A) @

25. Poaferfiad 3 4 3w v fagn N sxfzaen
ER R R Y

(B)- o (A) W & Wl w5y g A 3 A & 2 A
2'50/0%1

() - T (B) g 1 sifusmat mefie aegel w1 I
- 2

(©) ioren = s
(D) I # A = ¥ AlF Rr A, . LR

(D) 7% H A 0% ¥ arfer
(E) ﬁﬁﬁﬁ“@lﬁi?ﬁ (E) mﬁ'ﬂ;‘ﬁ-@a‘ﬁﬁqﬁ
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26.

27,

28.

9.

The Swadeshi and Boycott Were adopleq as
the methods of struggle for the first time

during the o .
(A) visit of the Simon Commission to India
(B) Partition of Bengal

(C) Home Rule Movement

(D) More than one of the above

(E) None of the above

At the Calcutta Session of the Indian National
Congress (INC) held in 1906, the Flag of

Swaraj for India was unfurled by

(A) A. O. Hume

(B) Dadabhai Naoroji

(C) G. K. Gokhale

(D) More than one of the above '
(E) None of the above ‘

During the freedom struggle, a paralle]
movement launched in the Indian States (in
the States ruled by the Indian rujers such as
Kashmir, Nizam’s Hyderabad, Tra\-'ancore,
elc.) was

(A) State People’s Movement

(B) Praja Manda] Movement

(C) Swaraj Movement

(D) More than one of the“aboye

(E)-None of the above

Which of the f'ollowing Statemen;
the Indian freedom stry S

(A) Gandhij;

(B). Gandhiji gaye his ﬁrs..t
Speech at Banaras Hin

(C) Mahatma Gangp;
year 1921,

(D) More thap one of 4

(E) None of the aboy,e

02/FH/CCIPT-2023/144.
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30. Which one of the

31.

32.

ﬁ

fnllnwing was 3 Journg

brought oyt by Abul Kalam Azad?

(A) The Comrade
(B) Al-Hilg
©) Zamindgy

(D) More than one of the aboye
(E) None of the aboye

How d'id the study of history help in Creating
a feeling of nationalism jp India towargs
the end of the 19th century?

(A) By reinterpreting history and refuting

the British portrayal of Indians s
backward, primitive and incapable of
goveining themselves
(B) By writing about India’s glorious past
and urging people to take pride in their
achievements
(C) By urging people to struggle and change
the miserable conditions of life under

the British rule
(D) More than one of the above
(E) None of the above

Which of the following statements are
not correct regarding the Non-Cooperation
Movement in the towns?

1. Only the upper caste and the rich took

part in the movement.

The council elections were boycotted

even by the Justice Party of Madras.

3. Thousands of students left government-
controlled schools, headmasters and
teachers resigned and lawyers gave up
their practice.

(A) 1 and 3 only

(B) 2 and 3 only

(C) 1 and 2 only

(D) More than one of the above
(E) None of the above

rJ
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33

34.

3s.

36.

i |
' after
AS . who came to that district
“A Sanyasi

bourer in Fiji,
a spell as an inde

{ Tulsidas Ramavana on
carrying a copy ©

i Vc SCS
Ca

referred to here is

(A) Jhinguri Singh

(B) Yadunandan Sharma

(C) Baba Ram Chandra

(D) More than one of the above
(E) None of the above

Who was the founder of All India Harijan
Sangh in 19327

(A) Jagjivan Ram

(B) Mahatma Gandhj

(C) Dr. B. R. Ambedkar

(D) More than one of the above '
(E) None of the above N

On February 20, 1947, Prime Minister Attlce

announced the British Govemmenl’s decision
to withdraw from India Jageg by

(A) August 1947
(B) January, 1948
(©). Jupé 1948

(D) More than ope of the above

(E) None of the above

Who establisheq Swa
(A) Shrj Krishna g;
(B) Ramly) Shah

(€) Bankim Chan
(D)

raj Dal jn Bihar?
ngh

dra Mitra

More than One of the aboye

(E) None of the aboye

02!FHICCfPT-2023f 144.5
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37.

38.

39,

40.

During the Salt Satyagraha i Bihar, |

In
addition tq making salt, the people ch

10 oppose the governme
tax?

(A) Haathj

f’jge
nt by Opposing which

(B) Development
(C) Malba

(D) More than one of the above
(E) None of the aboye

The elected Government of Bihar formed
by Shri Krishna Singh resigned in February
1938 for which reason?

(A) Participation in the Freedom

Struggle
of India

(B)
(©)

For the release of political prisoners

Satyagraha against the British at the
call of Gandhiji

(D)
(E)

More than one of the above

None of the above

Who saved the life of Gandhiji in B
during Champaran Satyagraha?

(A) Batak Mian

(B) Hamid Ansari

(C) Ravindra Pathak

ihar

(D) More than one of the above
(E) None of the above

Who led cultivators in Bihar during the
Non-Cooperation Movement?

(A) Swami Vidyanand
(B) Raj Kumar Shukla
(C) Shri Krishna Singh
(D) More than one of the above
(E) None of the above
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. 39.

3. 0% wemz ¥ A fawn F A 3 9% =y
¥ qu-um wEn % fmg BRa # # fay
3 1 fageq 17

(A) 71

(B) faekra

(C) we

(D) 7wiw d @ v 4 AhrF

(E) 37w & & #18 71

sh g fire g 7fza faer #1 Faifaa wem 3
wat 1938 § g w9 3= 2 E?

(A) 9@ F FEE F FEEH F 9 F
FRU

(B) Ui Ffe@l %) 812 F Fw

(C) ifsh g folPw & fag v e
ERate

(D) 37 4 ¥ TF |
(). 374 & & 71§ 7
e SR FemR ¥ 2w farn § vhish
TSR 9918 ofi?

(A) 7 firal

(B) wifie st

(C) Wiz s

(D) 394 A A v } wrfirs

(E) 3wt & & 91§

HEE SETER ¥ 3w ey fgn 3 framt
A spard 17

(A) @ faereg

(B) TS $wR yaet

(©) aﬁﬁﬂn

(D) 39 &% A vw A srfes
() 394 & & 38

38.

40,
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41. In ancient times, the are

to the south of

the Ganga was known as

(A) Takshashila

(B) Chola

(C) Anarta

(D) More than one of the above

(E) None of the above

(*:ZT\When did the use of iron begin in Indian

43.

44,

subcontinent?

(A) Around 12000 years ago
(B) Around 6000 years ago

(C) Around 9000 years ago

(D) More than one of the above

(E) None of the above

According o the

Sanskrit, Composed around
CE, Sudarshap Lake, an artj
Was repaired by

(A) Kanishkg

ficial reservoir,

(B) Rudradamap
(C)Harsha

(D) More than ope of the above

(E)None of the above

N irrve o

rock inscription. “jn’

45. In which of the followin

46.

47.

48.

g battleg are the Mam

Stated?

(A) First Battle of PanipatHBabur and

Opponents ngy correctly

(C) Battle of Haldighatj—
and Akbar

(D) More than one of the aboye

(E) None of the above

Maharana Pratap

During the ‘Delhi Sultanate, the designation
‘Mugaddam or Chaudhari’ was used for
(A) “revenue officials

(B) “village accountant

(C) village headman

(D) More than one of the above

(E) None of the above

Tabaqat-i-Akbari, which has been sometimes
considered more reliable than Abul Fazl's
Akbarnama, was written by

(A) Nizamuddin Ahmad

(B) Abdul Hamid Lahori

(C) Gulbadan Begum

(D) More than one of the above
(E) None of the above

Who the
rulers founded a suburban township of

among

following  famous

Nagalapuram, near Vijayanagara, after his
mother’s name?

(A) Harihara

(B) Bukka

(C) Krishnadevaraya

(D) More than one of the above



¥z .1 \\

A\ A
1\

|\
41, YR F1 A T ¥ <fim Am W # F@ | g5, P A e g @ g Brien
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(A) TR (A}Wwaqu——aﬁwﬁvﬂ%w
(B) et (B) T A1 ffa o FT stz X
(C) ¥ (C) 7AW F1 TG—IATT FAW S FEA -
(D)dwﬁﬁﬁﬁ@ﬂuﬁm (D) T & @ UF A AE

(E) 39 A A #1¢ Td (E) IFF & & F13 7

‘ : A gEzE A oA W’ A
. WA R ;| 46 R wewa F 5 el
4 YRR § @R 1 WA 6 YE g3l o =

A) ¥@: 12000 I ]
(A) ‘ﬁ (A) wja e Dean

(B) Wma: 6000 ¥ g4

(B) Tia F AG@HN
(C) w™: 9000 ¥ g4 (©) % i
(D) I 3 A TF 4 s (D) I HA G H I7F
(E) ¥ A 8 R T €) rF 3R T

43. @0 A 3 v 0 WA F N | ey g s, ol -0 7 5 5

¥ oEn, g W, O IO T, R 3w R e a8,
Tod fee 1 A7 ’

g foan mn an?

(A) FFF (A) PR e

B) %R (B) ¥reget Ifie e

(C) wd | (C) T &TH x

(D) 3%H-A8 0 4 #{uF (D) I i A T A sifirF

(By 393 3R %1% 7€ (E) 39 § | F1¢ ¢
44, T ¥ w2 AR SR gEER & U | gy, i A fEe afig w3 s F A w

_ﬁmnﬁljaﬂ_qﬁﬂﬁmaﬁﬁl%m s F g ey A v I Tw@

HaT B¢ & Tyrg <7

(A) TR (A) #fE

(B) gz FcAl (B) 9%

(C) d Fen (C) FRTR

(D) T & @ 0% @ v (D) 39 A @ vF | e

(B) 395w & @ #13 T (E) 374w 8 8 ¥ ¢
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s College was | 52 In 194
Women $
a

+ Vinohy p
: et . ave ¢ -
0 In 1940 T e following socictis Satyagraha frop aed g,
hich ©
ounded by whic .
founde (A) Nadiag in Khed,

distr: ; i
v of Jesus IStrigt, r‘”larat
(A) Society ¢

(B) Pavnar, Maharashrra

~ ian Brothers .
(B) Irish Christian (C) Punnapra-\fayalar, Keraj,

" lic Carmel
(©) Sisters of the Aposto (D) More than one Of the aboy,

(E) N
(D) More than one of the above ) One of the aboye

(E) None of the above 53. The Congress

d over th
Montford Reforms n 1918, Which |eg to
break up with

' ' ded the two
50. Who among the foFlowmg heat Sebienie (Sapry, Jayakar ang Chintamanj) wh
Boundary Commissions set up to :
the international frontiers between India and

Pakistan in 1947 (A) Servants of [ngi, Society

(B) Swaraj Party
(A) A.P. Moon

_ (C) Indian National Liberal Federation
(B) A. V. Alexander a'

(D) More than one of the above

(C) Cyril Radcliffe (E) None of the above

(D) More thag one of the aboye S4. The Cabinet Mission was sent 1o India for

i f the following?
(E) None of the aboye which of the g

I. . To establish a national government

ho.i ituti angement
S1. Who Introduced: e System of Mahalwari 2. To work out a constitutional arrang

for the transfer of power

' i ¢ out the details of Jinnah's
(A) Lord ¢ : 3. To work ou
& Lom“’ﬂ”IS demand for Pakistan

(A) 1 only
(B) 2 only

(C) 3 only
One
i = (D) More than one of the above
(E) None of the oy (E) None of the above
02;FH:CC:’PT-2023x144.A [ Contd.
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49. 1940 ¥, WA wRen wefdmad ) N
faferfiaa A R form st g &) 78 A7

(A) BEEd i e
(B) maftw frfraaa sed
(C) firedl o1t 2 widfers Fika
(D) 37 3 4 & | 9
(E) 394F 3 R F§ T
50. T 4 fr@ 1947 & v @R TfFEA & 9=
aiaﬁaumﬂﬂ@aﬁ%fmwﬁaﬂﬂéa
drm s &1 ge o a?

(A) Teo dlo T

(Djﬂﬁ?ﬁﬁ@wﬁuﬁm
(E) 794 & ® F1 T
51 frma. e I qEEa ddew el
b
(A), @TE FHada
(B) ¥z B
(C) =ié ¥
(D) 30 A A 7F A A

(E) Wﬁﬁaﬂ’éqﬂ
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) 1940 § fadran Wi 3 =fET HATR F7 A
Any et

(A) @z f & Afgame, T
(B) AT, WG

() gaﬂq—amaﬂ,é?{a

(D) wgﬁﬁﬁ@ﬁuﬁaﬁ
(E) 37 & A #1E 77

53, 1918 & Az guRl W FHW A T HE=T

(D) I & A TF §
(B) 394 | | F1$ 7
54, ¥ P fiefafas § 3 e fog wma
N7 T 917
1. & TP qEER ) W ¥ fag

2. w0 ¥ wam ¥ fy @ dE
el Jan F1 & ferg

3. ufkem ¥ fou fien ) afn F & ®
wm F0 % fou

(A) ¥ad |

(B) ¥da 2

(C) *ad 3

(D) I # A vF B HfuF
(E) 374 & 4 1§ Té
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i t
SS. Who among the following made an offelrh 0
Humayun that he would surrender Bihar

and pay an annual tribute of 10 lakh dinars
if he was allowed to retain Bengal?

(A) Sher Khan
(B) Bairam Khan
(C) Bahadur Shah
(D) More than one of the above
(E) None of the above
. The Vikramshila University was established
by
(A) Dharmapala
(B) Devapala
(C) Gopala
(D) More than one of the above

(E) None of the above

57, Who among, the f,

llowing was the first
Govemor of Bihar?

(A)Sir James Daviq Sifton
(B)” Sir Hugh pow
©) Sir Maurice Garnjer Hallett

(D) More than ope of the above
(E) None of the abgy,e

OZIFHICC!'PT-ZOZSJ’ 144-5
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58. Who was the author of Mahatma ;
and Bihar, Some Reminiscences ?

{fndh i

(A) J. P. Narayan

(B) Karpoori Thakur

(C) Dr. Rajendra Prasad

(D) More than one of the above

(E) None of the above

§9. Which is the oldest church in Bihar?

(A) Luke’s Church
(B).Stephen’s Church

(C) Padri Ki Havelj

(D) More than one of the above

(E) None of the above

60. The late actor Kumudlal Ganguly, also

known by his stage name Ashok Kumar,
was born in which of the following cities
of Bihar?

(A) Munger

(B) Bhagalpur

(C) Patna

(D) More than one of the aboye

(E) None of the above

[ Contd.




. 7 A i g #) e e fon o0 i 7
R TTE W R w3 R mn A ' R
# wfia & M o 10 wE AW R A
wgTaa 3fdq Fam?

(A) WER
(B) s @M
(C) <Egt e
(D) I74% 3§ | & | AU

(E) 39 4 3 =% T

(C) v MR tere

(D) 394w # | ©= ¥ st
(E) ¥ # 4 # 7

A 47

(A) Fo Hho T

(B) F 3

(C) o o3 JER

(D) A A A 3
(E) 3 A Q7T

5

59, foem 1w Fr-m @

o)
(B) =

% wans
.gsi\‘

Q)\i\ (D) 39 H A UF @ AF |

(E) 2wt A 4 %13 7¢]

¥ fefafiaa A Q fm e s gan w?
(A) g

(B) ST

(C) W

(D) 3% & | o=} arfiys:

(E) 37t & § 98
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61. Which of the following Union MI!’IISIFICS
recently launched the YUVA 2.0 Scheme
in 20227 B

(A) Health and Family Welfare Ministry
(B) Education Ministry

(C) AYUSH Mantralay

(D) More than one of the above

(E) None of the above

62. The Ministry of Home Affairs has completed
the Mother Tongue Survey of India (MTSI)
in November 2022 with field videography
of the country’s how many languages?

(A) 40

(B) 233

(C) 576

(D) More than one of the above

(E)

:v:'.

63. Which

of the following committegéz
submitted

2 Teport on gas pricing,
recommending  complete pricing ‘freedom
from January 1, 20269

(A) Arun Goel Committee

(B) Kirit Parikh Committee

), Pk, Mohanty Committee
(D) More than one of the above
(E) “None of the above

64.

(A) Surat
(B) Bhopal

(C) Navi Mumbai

(D) More thap one of the above

(E) None of the aboye

None of the above : —

02/FH/C C/PT-2023/ 144-5
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65.

- 66.

67.

The Prime Minister inaugurated the first
greenfield airport ‘Donyi Polo Airport’
which of the following locations?

in

(A) Dholka

(B) Itanagar

(C) Dibrugarh

(D) More than one of the above

(E) None of the above

Which animal has been approved as a food
animal by the Food Safety and Standards

Authority of India (FSSA] ) in November
20227

(A) Himalayan yak
(B) Mountain goat
(C) Himalayan tahr
(D) More than one of the above

(E) None of the above

India’s first floating financial literacy camp
was organized recently by India Post
Payments Bank in which of the
locations?

following

(A) Srinagar
(B) Andaman Islands

(C) Kerala

(D) More than one of the above

(E) None of the above

I ( ‘{ ”Ii’tf



61.

62.

63.

02/FH/CC/PT-2023/144A

. freffias # @ e e ) @< daq, 2022

Firfefrn 3 @ i ¥ e 3 w@ @ d
2022 & 71 2.0 A F YT e

(B) foen warem

(©) ajmﬁawau

(D) 3FF H A F § A

(E) 74 & A 7 7

Te WA 3 TR 2022 F W B fEA
wyiet f fee dEuH F Wy wndE
mqwaiam (Mo Ao o mo)mqﬁ
T o 27

(A) 40

(B) 233

(C) 576

(D) 79T # A T | AF

(E) 394 & & #1§ T8

frforf & 4 fra At 3 1 S, 2026 8. [
o e fraon s ) fewen w4 g |

e frafon o o frird s 1 R7
‘(A) 3] e AiHfd

(B) Tt wifta wfafa

(C) o Fo. A wfAfd

(D) T0gH 4 8 vF & AU

(E) 394 & & %i§ T8

% sman gl fam @w0-qF TR & A
grifd Tt farn T

(A) @

(B) WU —~

(C) & g}

(D) 374% 3 A & A Al

(E) 37% & & #1 T

21

65.nmﬂiﬁaﬁ=ﬁﬂﬁﬂ%ﬂmﬂmm

67.

frrfes 7ari o@ S T 7R R =
g
(A) BTH
B) fAm
© fexm
(D):;crg?ﬁﬁﬁ@#nfﬁ
(E) 30 3 @ FE T
/
form e ) T 2022 § sl W

o W R (Tho o THo fo ST)
2 T W 9y & §9 A sgifea fiF 27

(A) Temrerh a1

(B) WA FHll

©) W-m

(D) 394w # } w& A AfuF

(E) 3wgw & A F§ T

WId 1 TR S fida @ AR T

# # §fm W Yiw ¥ qu Al § @
forw T W amafE Rear m ar?

(A) #HR

(B) 3iewM g wge

(C) ¥

(D) 9% % A @ A stfuw
(E) 394w ¥ A 91 74
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68. The President © - India inaug : iy @
KAMRUPA npcn:nm!;ll
hich of the follow ing 1"
whichn ¢
(A) K haragpur
(B) Bombay

(C) Guwahati

(D) More than on¢ of the above

(E) None of the above

ndian AIr Force Day; celebrated
2, an hour-long air

fis was carried out
Jocations?

69. In the o0th I
on 8th October, 202

display of cighty aircra

over which of the following

(A) Gateway of India, Mumbai

(B) Dal Lake, Jammu and Kashmir

(C) Sukhna Lake, Chandigarh

(D) More than oné of the above

(E) None of the above

70. Which month-of the year is celebrated as
Rashtriya Poshan Maah or National Nutrition
Month under the Poshan Abhiyaan of the
Government of India?

(A) May
(B) September
(C) July
(D) More than one of the above

(F) None of the above

71.

Whal i_q lhe nam

module of Cp; € Of re¢
) e
(A) Ti hing S Tiap, Mly Ja
) Tianhe Bong ¢ cheg ;
(“ pa(;c K; Jn:l|
) Wt.‘mian Uiy,
{() MCngtla
D
(D) More th i
(E) € of
2|
72. Wh Ove
Ich of the :
€ano gr OWin
u ted g
W
( Orthe fy.., .. orld'g |
€ns €arg?

7,

74.

(A) Michael Ondaatje

(B) Pradeep Mathew

(C) Shehan Karunatilaka

(D) More than one of the above

(E) None of the above

What was the theme of the World Space
Week, 2022?

(A) Women in Space
s Improve Life

(B) Satellite
ability

©) Space and Sustain
(D) More than 0n¢ of the above

oné of the above

(E) N
| Contd



68.

69.

T F W ) feffe § 4 R
T
(A) TETR

(B) =i

(C) TR

(D) 39% 3 4 wF @ sfus

(E) 399% 3 4 %1 78

§ EA, 2022 F W M 903 wwdw g
& @ ® owwh arEE ¥ R o

v fefafEd 3 3 o wm w9
T ™ a7

(A) 23 i 3fe, gas
(B) = #w, 9 3R Fwi
(©) gan ¥, e
(D) ¥ § 3 v 4 o

(D) 3% 3 A wF @ wHfuF

N

(E) 3w 3§ A =1 7l
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72&

i & frarin s 2 % 71 A A A
fyn o ifam e F1 A R

(A) frr2

(B) dfer

(C) i

(D) 3 % 4 0% 3
(E) 7o @ & #1871

frefifan & @ #aom B F ow T
wrgd 2, W@ fgd 38 aW # el am
H21 417

(A) 2 Fe FTm
(B) H e
(C) TASTHT

o
(E

Q)
A
| #15 Td

73 = @ Fr T A T 30, 7 89T 4

74.

\K\, qreft srener & T 2022 F TR [TER

foen?

(A) e e

(B) Wi feg

(C) V&M FoMfaeT

(D) 37 A A uF | Al
(E) 3% A & 1 e

faw srafig @R, 2022 6 iy T ofi?
(A) rafe & shad

(B) 3w i & Aga wa §

(C) srafe i faea

(D) 39§} w% A arfuw

(E) 3% & @ % 7]
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i Iain]cd |
. . ratories ¢ T
75. Which of the following Iﬂb(;’ akthrougl, -
b .
a historic Nucleqy fision

' e .
' ‘Mby
. ! in J, € fo ‘th:, “’Unr, »
Decemb(‘r -..022'} dla? nshu- fﬁr 1 FL';'-"Ir,
; nr__r '
. ational - i r”_‘:‘
(A) 18Wrenc, Livermore N Laboratory ) (-hlna '
(B) Ja
Pap,
y to
8 Oak Ridge National Labora R4 (
( C} &D
C) Los Alamos Nationg] Laboratory Uth Korea
(
©)ay,,
€t
(P) More than one of the aboye “one e gy,
(E) No
(E) None of the above Ne op the aboy,
s Colling | 78, !
\ llowin is Collms of the foll.
@ hieh of thed :Ome yeagr 20229 allﬂounc thay it l::n Space aeng;
' Dictionary's wor, 0 Rl o . o :
Prope| :
: X Pel it EQU Us s CCrafyy
(A) Permacrisi ) Nasy
(B) Caroleap ®) SUPARC
©) Lawfae © Ixa
% '\ an one Qe e (D) More than gpe of the above ‘
Sy - e ) (E) None of the aboye
7. Which Of the lowing COuntrigg, along wi, B0, Wh is "ame of Tesh humaig o
Senegal, launchd e nlernational Drought ' d in October 2002
Esilienge Alliance durj 279 launcheq i,
(A) Optimus
(B) Atlas
(C) Pepper
abOVe
(D) More than one of the

(E) None of the above

[ (‘mﬂd.
24




75 'E'“”m%"h”a ¥ é‘i!‘?ﬁ 3 fow 2022 # | 78, e & wreh A FRA AW G 3 ‘v
gﬂ%ﬂ? SIERTY Wi . S %ﬁi‘liﬂomoiﬂﬁmmmw
(A) =M
CQ% (A) @it fan e dened
._5 (B) & i IvHa Jend (B), A0
- ) () afem e
A (C) &\ FTEE TG qEre
i (D) T i & T A A
(D) 9T 2 R UF § AU
T (E) g & & FIE A
() 794w # R F1§ 7
19, Freffad 1 @ 5@ 3 3 78 Ao
-, e Teamall #:1 q H% T T 2022 # fF 3@ oA E EUS sahe a@ F
frofafiaa 3§ @ #R-T 7 ) R & 1 AR I
fFm 27
(A) Permacrisis \Q
A WASH)
(B) Carolean .
gy (SUPARCO)
(C) Lawfare !
:\\K\I(C) S (JAXA)
(D) 7w 4 TR A Q}‘Y
\E (D) I 8 A 0 @ i
(E) 3w & 3 FE
0‘ (E) I0fw # A ¢ T
¥ gy faea
e TeEuA so.mzozzﬂahmmm@mﬁzm
&) F1 AW R7
(A) S
(B) tzem
(C) I
0 i i 4 T & A (D) I A A vF @ aifer
©) i A 2 BT (E] TS A el
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pn\\'CI' Plﬂm’ has been

" oo solar
81. The first floating i

i ce N
built at which place

a
(A) Dilbarpur, parbhang

(B) Jamalpur, Darbhanga

©) Kadirabad, Darbhanga

(D) More than one of the above

(E) None of the above

£2. According to the Economic Survey for the
year 2019-2020, which district has lowest

per capita income?

(A) Sheohar
(B) Araria . \{\'G
(C) Sitamarhi N

o
(D) More than one of t@\;émé

(E) None of lhe{b!é
(g ;

8 1o the NIT) Aayog SDG Report

/) har score?

84, WhICh sport ha

5 been m’ .
Khelo Ingi Wo Cluded

men’s T

OUrnamcm for rh.

(&) 72
]

-l_f[ 1'\,'. "
&5

(D) More thap, one of the aboye

(E) None of th

Z';bove
B ol
Which ;f% following has been awarded

the aphical Indication (Gl
Algust 26229

&g) Applique (Khatwa) Work of Bihar
B (B) Sikki Grass Prodycts of Bihar

(C) Mithila Makhana

) Tag in

S

(D) More than one of the above
(E) None of the above

86. Which of the following has been added to
the UNESCO World Heritage List in 20227

(A) Astronomical Observatory at the Langat
Singh College

(B) Mahabodhi Temple Complex at Bodh
Gaya
(C) Archaeological ~Site ~of Nalanda

Mahavihara at Nalanda

More than one of the above

(D)

(E)

None of the above



o1 90 T 11 o s | e 4
WHE R TR

(A) fewary, zom
(B) SWIETQ, T
(C) TR, @M
(D) 39 3 A T 4 i

(E) I9dw 8 & = 7

82.

24 2019-2020 F 7T wa&w F AR, R
7 91 vha =i 9= 7a8 #0727

243
(A) Tmam OF(C
(B) #@l
(C) dmamel

-

(D) 3% 4 B & @ A

(E) 39w A @ #i§ 34
N}

it

@

\
U
o

QE ] ﬁo 3ﬁ°
EnCIRGK

(D) IE® # 4 & A dUF

(E) 3 # & #1§ T

7
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B)
oD

84, el s afeen afi # areh aw fw A F
it form 7 37

(A) frz

(B) %% wrfam

(C) dwarsi

(D) 3wt 8 & UF 4 HlE
(E) I74 1 & #1371

(?.ozzﬁmﬁaﬁ%m
3§ gfaa e man 27

fiferen mar

(D) 3% A & U | AU
(E) 3% A @ 413 ¢
86. freferfaa @ @ ¥ ad 2022 9 gren 6 fag
wtet gefl A siven v Rl
(A) @R fig #ics A @itela quuren
(B) aumn fera wersnfy wfz wfim
(C) eta A Arcta werfagr &1 yuaifes e
(D) 3T A A v 4 v

(E) 37 4 @ F1§ T
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(3?'.\ In the year 2020, Bihar gained the rank

out of 36 States in the Ease of Doing

Business, awarded by Business Reforms
Action Plan (BRAP).

(A) 23rd
(B) 24th
(C) 25th o
(D) More than one of the above tﬂ}ﬁ;ﬂ
(E) None of the above (2]~ (®]

88. Ganga Jal Aapurti Yojana was inaugurated

by Chief Minister Nitish Kumar
November 28, 2022 at which place?
(A) Lakhisarai

(B) Rajgir

(C) Bodh Gaya

(D) More than one of the above

(E) None of the above

on

89. Which of the following associations/boards

declared equal pay for men and women
players in October 20227

(A) Bihar Cricket Association

(B) Board of Control for Cricket in India
(C) Gujarat Cricket Association

(D) More than one of the above

(E) None of the above

90. The urbanization of the State has increased

very rapidly in the last ten years. According
to the 2011 Census, the level of urbanization
in Bihar was just _ percent, which has
increased o percent at present.

(A) 11:3, 153

(B) 122, 131

(C) 144,155

(D) More than one of the above

(E) None of the above

02/FH/CC/PT-2023/144-A

91. In the end of its mountainous journey
Attock, the Indus River is joined by whigy
river from Afghanistan?

(A) Amu Darya

(B) Kabul River

(C) Helmand River

(D) More than one of the above
(E) None of the above

Which one of the following is the well-

publicised wildlife campaign in the world
launched in 1973?

(A) Project Tiger

(B) Lion Project

(C) Sunderbans Project

(D) More than one of the above

(E)  None of the above

Which of the following statements is true
about troposphere?

(A)
(B)

92.

93.

It is the topmost layer of the atmosphere
The temperature at this layer increase
with the height.

Its average height is 13 km.

More than one of the above

None of the above

©)
(D)
(E)
The southern continent broken from Panga
is called

(A) Laurasia

(B) Gondwanaland

(C) Pacific Ocean

(D) More than one of the above

(E) None of the above

The region and the Antarc
continent are situated near
(A) the Sahara Desert

(B) the North and South Poles
(C) the Amazon Basin

94.

9s. Arctic

(D) More than one of the above
(E) None of the above
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96. Which States of India have common border

with Myanmar?

(A) Arunachal Pradesh, Nagaland, Manipur,
Mizoram

(B) Arunachal Pradesh, Assam, Manipur,
Mizoram

(C) Manipur, Mizoram, Nagaland, Tripura

(D) More than one of the above

(E) None of the above

97. Which one of the following is the world’s
richest region from a marine biodiversity
perspective, comprising 21 islands with
estuaries, beaches, forests of the nearshore
environment, seagrasses, coral reefs, salt
marshes and mangroves?

(A) Gulf of Mannar Biosphere Reserve
(B) Nanda Devi Biosphere Reserve
(C) Sunderbans Biosphere Reserve

(D) More than one of the above

(E) None of the above

98. In which type of climatic region do Uttar
Pradesh and Bihar fall as per Koppen’s
classification scheme?

(A) Cwg

(B) Aw

(C) Dfc

(D) More than one of the above
(E) None of the above

99. India’s territorial limit extends towards the
sea up to how many nautical miles’km from
the coast?

(A) 16 nautical miles (about 25-9 km)
(B) 12 nautical miles (about 21-9 km)
(C) 10 nautical miles (about 19-9 km)
(D) More than one of the above

(E) None of the above

02/FH/CC/PT-2023/144-A
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100.

QA0
AV
o (8]

101.

102.

103.

|

Which of the following river valleys i
in coal reserves in India? A

(A) Damodar River Valley

(B) Son River Valley

C) Mahanadi River Valley

(D) More than one of the above

(E) None of the above

Which of the following statements
true about sugar industry in India?

(A) It is a weight-losing industry.

(B) Maharashtra has emerged as a leading

sugar producer in the country.

(C) Uttar Pradesh is the second largest

producer. of sugar.
(D) More than one of the above
(E)- None of the above

Towards the end of summer, there are
pre-monsoon showers which are a common
phenomenon in Kerala and coastal areas of

Karnataka. Locally, they are known as
(A) Blossom showers

(B) Norwesters

(C) Mango showers

(D) More than one of the above

(E) None of the above

The atmosphere is mainly heated by the
(A) short-wave solar radiation

(B) reflected solar radiation

(C) long-wave terrestrial radiation

(D) More than one of the above

(E) None of the above
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104.

105.

106.

Which of the following States of India
borders with the maximum number of
districts in Bihar?

(A) Uttar Pradesh

(B) Jharkhand

(C) West Bengal

(D) More than one of the above

(E) None of the above

Which of the following is the last railway
station of Bihar in the train route from
Bhagalpur towards Mirza Cheuki?

(A) Pirpainti Railway Station
(B) Ammapali Railway Station
(C) Kahalgaon Railway Station
(D) More than one of the above
(E) None of the above

With reference to the mineral production
in Bihar, consider the following statements :
I~ Rohtas has the highest deposit of
pyrites.

2. Limestone is found " in Kaimur

(Bhabhua), Munger (Monghyr) and
Rohtas districts:

Gold deposits are found

in  Jamui
district.

Which of the statements given above is/are
correet?

(A) 3 only

(B) 1and? only

(C) 1and 3 only

(D) More than one of the above
(E) None of the above

02/F H;‘CC!PT~2023}144-A
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107. Phalgu, a sacred river flowing in Rj,.

is formed by the confluence of which o
the following rivers?

(A) Lilajan and Son rivers

(B) Son and Mohana rivers -
(C) Mohana and Lilajan rivers .q‘f";
(D) More than one of the above :

(E) None of the above

. In Bihar, tea gardens were established for the

first time in which of the following places?
(A) Thakurganj

(B) Bahadurganj

(C) Supaul

(D) More than one of the above

(E) None of the above

. Choose the correct order of the following

districts of Bihar as per the ascending decadal
population growth (2001-20] 1).

(A) Siwan < Kishanganj < Madhepura
(B) Madhepura < Kishanganj < Siwan
(C) Kishanganj < Madhepura < Siwan
(D) More than one of the above

(E) None of the above

. Which food industry dominates among the

agro-based industries in Bihar?
(A) Cereal-baseq industry
(B) Pulses industry

(C) Sugarcane industry

(D) More than one of the above
(E) None of the above
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111.

112.

113.

114,
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Large number of thin strips of black paint
are made on the surface of a convex lens of
focal length 20 cm to catch the image of
a white horse. The image will be o

(A) a zebra of black stripes Qg-g’o
(B) a horse of black stripes

(C) a horse of less brightness

(D) More than one of the above

(E) None of the above

Shrillness of sound is determined by

(A) amplitude of sound

(B) wavelength of sound
(C) velocity of sound
(D) More than one of the above

(E) None of the above

Which of the following photoelectric devices
is most suitable for digital applications?

(A) Photovoltaic cell

(B) Photoemitter

(C) Photodiode

(D)More_than one of the above

(E) None of the above

Ball bearings are used to convert static
friction into

(A) drag

(B) sliding friction

(C) rolling friction

(D) More than one of the above

(E) None of the above

34

115. A goalkeeper i

116.

n a game of football pulls his
fter holding the ball shot

hands backwards a
oalkeeper to

at the goal. This enables the g

(A) exert large force on the ball

(B) increase the force exerted by the ball

on hands

(C) decrease the rate of change of

momentum

(D) More than one of the above

(E) None of the above

Which among the following is a positively
charged - particle emitted by a radioactive

element?
(A) Beta ray

(B) Alpha ray

!E]F’E](C) Cathode ray 4
HP]

(D) More than one of the above

(E) None of the above

117. Centripetal force is responsible to

(A) keep the body moving along the circular
path

(B) fly the object along a straight line

(C) independent motion of the object in
space

(D) More than one of the above

(E) None of the above
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118. Which of the following energy changes

involves frictional force?

(A) Potential energy to sound energy
(B) Chemical energy to heat energy
(C) Kinetic energy to heat enérgy
(D) More than one of the above
(E) None of the above
119. A bus is moving along a straight path and

takes a sharp turn to the right side suddenly.
The passengers sitting in the bus will

(A) fall in the forward direction
(B) bent towards left side
(C) bent towards right side
(D) More than one of the above
(E) None of the above
120. Before playing the orchestra in a musical
concert, a sitarist-tries to adjust the tension

and pluck the string suitably. By doing so,
he/she is adjusting

(A) amplitude of sound
(B) intensity of sound

(C) frequency of the sitar string with the
frequency of other musical instruments

(D) More than one of the above
(E) None of the above

02/FH/CC/PT-2023/144-A

121. A form of matter has no fixed shape but it has
[ a fixed volume. An example of this form of

matter is

(=¥ (%)
24 (A) krypton

oM. (]
(B) kerosene
(C) carbon steel

(D) More than one of the above

(E) None of the above
H*f’

122. Some metal Oxides react with acid as well as
base to. produce salt and whitet. They are
known as amphoteric oxides. The examples
of amphoteric oxides are

(A) Al,05 and ZnO

—_—

VLRI
(B) Al,03 and Cu0  \\qatoy+ Hh©
(C) CuO and ZnO

(D) More than one of the above

(E) None of the above

123. Which gas contributes to global warming
through its greenhouse effect?

(A) Nitrous oxide
(B) Methane
(C) Carbon dioxide

(D) More than one of the above

(E) None of the above
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124,

1285.

126.

o4

127.

Acids react with metal carbonates to liberate

gas.
—
(A) €O, 3 a0 ot
® co tytO T ansd
C
(©) H,

(l?_)_ More than one of the above

(E) None of the above

Which acid is described as HOOCCOOH ?
(A) Oxalic acid

(B) Acetic_pacid

(C) Carbonic acid

(D) More than one of the above

(E) None of the above

You have been provided with three test tubes.
One of them contams distilled water “and

the other two comamr’arﬂ‘ac dic solution Zand

a@amc solt respectively. Which of them
will tum]ﬁa litmus to blue? J

(A) Acid

(B) Bas‘q

(C) Distilled water
(D) More than one of the above

(E) None of the above

The odour of acetic acid resembles that of
(A) tomato

(B) kerosene

(C) vinegar

(D) More than one of the above

(E) None of the above

02/FH/CC/PT-2023/144-A 38

128. Why does dry HCI gas notf change the

P

i-| -{fi']

129.

130.

colour of dry litmus paper?

(A) Blue litmus becomes dry in the presence
of dry HCI gas.

(B) No H30" ions are present. Litmus
changes colour only in the presence of
H;0" ions.

(C) HCI gas acts as a dehydrating agent.
(D) More than-one of the above

(E) None of the above

Detect the odd one.

(A) Setting of cement

(B) Burning of coal

(C) Ripening of fruit

(D) More than one of the above

(E) None of the above

Which of the following statements about

diamond and graphite 1s true?

(A) They have same crystal structure. *
(B) They have same degree of hardness. v
(C) They have same electrical conductivity.
(D) More than one of the above

~

(E) None of the above
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131. The stomata open or close due to change

in the
(A) protein composition of cells

(B) amount of water in cells
(C) position of nucleus in cells
(D) More than one of the above

(E) None of the above
132. Chlorophyll absorbs

the sunlight.
(A) green and blue

(B) green and red
(C) red and blue
(D) More than one of the above

(E) None of the above
33. Which of the following is not a correct

match?
(A) Thick, hard stem with branching near

base : Tree
(B) Weak stem which cannot stand upright :
Creeper
(C) Petiole : Attaches leaf to stem
(D) More than one of the above
(E) None of the above
Water reaches great heights in trees because
of suction pull caused by
A) absorption
B) transpiration
) evaporation
)) -More than one of the above
) None of the above
hich among the following is a character
chloroplast which makes them qualified

self-replication?
Presence of DNA only

Absence of RNA
Presence of both DNA and RNA

More than one of the above
None of the above

PT1-2023/144-A

wavelengths of

40

136.

137.

_‘-‘b\.
138. Female Anopheles can be distinguished from

Do female Culex because it sits

139.

140.

The parts of the skeleton that are not as harq
as bones and which can be bent are called a5

(A) carpals

(B) cartilage

(C) vertebrae

(D) More than one of the above

(E) None of the above
In lichen, a chlorophyll-containing partner,

live together.
(A) fungus and a bacterium

(B) alga and a virus
(C) alga and a fungus
(D) More than one of the above

(E) None of the above

(A) at an angle with substratum

(B) - parallel to the surface of substratum

(C) at right angle to the surface of

substratum
(D) More than one of the above

(E) None of the above
The most important cell type associated with
the immunity of the body is

(A) platelets

(B) lymphocytes

(C) RBCs
(D) More than one of the above

(E) None of the above

Which one of the following statements is

incorrect about muscles in human body?
nuscles in human bod;

(A) Muscles work in pairs.
(B) Muscles become shorter, stiffer and

thicker when contracted.
(C) Muscles can only push the bone.
(D) More than one of the above
(E) None of the above
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146. Which of the following statements is false?

147.

U

(B) Every rhombus is a paralielogranb [

(A) Every square is a rectangle

¥

(C) Every square is a rhombus.
vy

(D) More than one of the above

(E) None of the above

In a family of some persons, B says that R
is the daughter of my sister 4, who is the
only daughter of 7. X is the child of T'and Z,
who is the grandmother of H. X is the mother
of M, who is the only sister of X is
unmarried. If S is the spouse of 4, how is K
related to S ?

(A) Sister-in-law

(B) Wife of brother-in-law

(C)  Brother-in-law

(D) More than one of the above

(E) None of the above

02/FH/CC/PT-2023/144-A

44

A

148. How many words, no matter if they -

149.

150.

meaningless, can be formed by the lettey,
of the word ‘DIARY’?

(A) 5

(B) 10

(C) 24

(D) More than one of the above

(E) None of the above

Select the missing number from the givey
alternatives :
44]49]37
52| 7 | 4]
58 (35|53
(A) 56
(B) 77
(C) 66

(D) More than one of the above
(E) None of the above

Find the missing number in the given series
following the same pattern :

15, 20, 32, 62, 118, 248, ?
(A) 322
(B) 368
(C) 428
(D) More than one of the above

(E) None of the above

[ Contd.



r

(A) Wﬂﬁ?{im-@mh

(B) YT TS T wiacEg e R

(D) 394 & 4 F A A

e

(E) I94w & & #1¢ T

Qﬂ‘ﬁEM%@WﬁBﬁm%ﬁ;Rﬁﬁ
'lﬁﬁAaﬁ‘iﬁ%-ﬁTﬁW@ﬂ?ﬁ@%l&_
NI Iy
S B e w1 X
e 21 3R S, AR e &, @ K #
< @ fFg ER F1 HEg 27 @-,o\ﬂ T

,

148. T ‘DIARY # ¥

. g e e 32 g B I AT
.

Hﬁﬁ%ﬂ’ﬁﬂiﬁﬂmm

Rﬁ%.aﬁﬂ%ﬂdﬁmmﬁ?

£ B vl
(A) > a1t

- T S
(B) 10 270 y}/}
M
(D) mﬁﬁﬁé@ﬁaﬁﬁ
(E) wﬁﬁﬁﬁ@rﬁ:ﬁ
‘K)-‘f.‘
P\

| G&U(E) Joeh & @ S T

A o Kl
iy ‘gé\}ﬁﬂ/{:f |
() S N e o so.ﬂﬂéﬂg@wﬁmﬁzﬁmwmgaﬂ -
=\ RAGA| R O (SR 1<
w n\‘txl H 4 A
/ _ =1
L A o 15,202,618 28,2 536
1(1 -—fc; 'f’["_‘, ‘-’]n _*\‘ _i\‘}- \1
TR W ST
(C) |EATS /2at /ATl (A) + Y ”\\AQ ~ 2o0-10r 0
. r)é (B) 368 y 0 ‘ﬁ() . q\} s &, C g 5,
(D) 37w # B @ AfuF 7 (C) 428 g0 w2 = fy-2 = (L
GQ 2 '.",2\_‘.___( -
4wl @it "¢
o= . .
(E) Gﬁ?ﬁﬁﬁﬁ:ﬁﬁ ?))%d{.---()u (E) 374w # @ #¢ 7ei !l?‘&') 29 %4
\ g4
02/FH/CC/PT-2023/144A 45 'Q N i I
w® I N [Contd.




